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EHE 2.5 (B, Multiplicative Law of
Probability). —E# A B B BRERIBEZER

P(ANB) = P(A)P(B|A)
— P(B)P(A|B)

# A B AR, A

P(AN B) = P(A)P(B)

<P > HIREBERNER,

P(A|B) = P(;‘(;f)
&
P(AN B) = P(B)P(A|B)
B
P(B|A) = P(I;“(Z)B)
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P(AN B) = P(A)P(B|A)
HBESLENEE, E A 2 B HAER K,
P(ANB) = P(A)P(BJ|A) = P(A)P(B)
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. FIEEAVIERE:

(1) =5 A, B,C WRENEE
P(ANBNC) = P(A)P(B|A)P(C|AN B)
A
P(ANnBNC)

P((ANnB)NC)

P(AN B)P(C|AN B)
(HEH 2.5)

= P(A)P(BJA)P(C|AN B)

(HEH 2.5)

(2) k EHEME A, Ao, ... Ay ZERIHES
P(A1NAxNAzN---NAg)
= P(A1)P(A3|A1)P(A3]A1NAp)---
P(Ak|A1 ﬂA2ﬂA3ﬂ...mAk_1)
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EH 2.6 (KEmhnEE, Additive Law of
Probability). —H# A 8 B K=

P(AUB) = P(A) + P(B) — P(AN B)

<#> B Venn-diagram, H&
AUB =AU (ANB) (ZHERFEH)
LUk
B=(ANB)U(ANB) (ZHFEMH)

EEHBENER, RAR, B

P(AUB) = P(A) + P(AN B) (1)
VY4

P(B) = P(AN B) + P(AN B) (2)
B (2) ®f# P(AnB) A (1) R, &

P(AUB) = P(A) + P(B) — P(AN B)
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it INEEEE:. =58 A, B, C HERERREE, H
Venn-diagram, A%
P(AUBUQ) =
P(A) + P(B) + P(C) — P(ANB) —
P(BNC)—-P(ANC)+ P(ANnBNC)
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EHE 2.7, BE—BH A,

P(A) =1 - P(A)

<E>SHE S=AUAH AH AHRF &

1= P(S)=P(A)+ P(4)
A,
P(A) =1 — P(A)
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